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hPa m
1000.0 58
925.0 737
922.0 766 12.
919.0 793 14.
906.0 914 15.
893.0 1037 16.
883.0 1133 19.
874.1 1219 18.
861.0 1349 17.
850.0 1458 17.
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PRES HGHT TE

hPa m
1000.0 53
925.0 736
922.0 766 23.
917.0 813 22.
906.3 914 21.
874.6 1219 18.
850.0 1464 16.
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On this afternoon sounding,
potential temperature is
constant so we can deduce
T(2) forany z.

Compute the difference between the sensible heat content below 850 hPa in the afternoon and
in the morning. Do this by assigning an afternoon T for each height on the morning sounding.
Next get the AT for each height. Multiply each AT by the pc, for that height. Then do a

summation from ground (922 hPa) to 850 hPa, summing terms of the form pc, AT Az



